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QUESTION 1
DRAG DROP
Drag and drop the Dockerfile instructions from the left onto the descriptions on the right. Not all options are used.

Select and Place:

oM ubun 1201 S e
VOLUME["/var/www",” fvar/log/apache2"," /etc/apache2”] creates a mount point with the specified name
RUN apt-get update && apt-get install -y —force-yes apache2 configures a container that runs as an executable
ENTRYPOINT[*fusr/shin/apache2ctl”,”-D","FOREGROUND"] must be the first instruction in the Docker file
EXPOSE 1521
Correct Answer:
EXPOSE 1521

VOLUME[* fvarfwww",” fvarflog/apache2”,” fetc/apache2”)

RUN apt-get update && apt-get install -y —force-yes apache2 ENTRYPOINT]*/usr/sbinfapache2ctl”,”-D","FOREGROUND"]

FROM ubuntu:12.04

QUESTION 2

Which two situations align with infrastructure as code principles? (Choose two.)
A. nonreplicable snowflake servers

B. release versions to specific hardware

C. maximized configuration drift

D. easily reproducible systems

E. repeatable processes
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Correct Answer: DE

QUESTION 3

A developer is working on a feature for a new application. The changes in the existing branch named \\'feat00304\\
must be integrated into a single commit with the current working primary branch named \\'prodapp411926287\\'. Which
git command must be used?

A. git rebase --merge feat00304

B. git merge --squash feat00304

C. git push --rebase feat00304

D. git checkout --squash feat00304

Correct Answer: B

https://stackoverflow.com/questions/5308816/how-can-i-merge-multiple-commits-onto-another-branch-as-a-single-
squashed-commit

QUESTION 4

What is the purpose of the Cisco VIRL software tool?

A. to verify configurations against compliance standards
B. to automate API workflows

C. to simulate and model networks

D. to test performance of an application

Correct Answer: C

Reference: https://www.speaknetworks.com/cisco-virl-better-gns3/

QUESTION 5

What is the purpose of the first three pairs of digits in a MAC address?
A. defines a routing identifier for the client

B. indicates the IP address of the client in Hex

C. defines packet forwarding priority sent or received by the adapter
D. indicates vendor of the network card or adapter

Correct Answer: D
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